

*A GENERALIZATION OF THE LERCH–MORDELL FORMULAS  
FOR POSITIVE DISCRIMINANTS*

BY

JERZY URBANOWICZ (WARSZAWA)

**1. Introduction.** Let  $K_2$ ,  $O_F$ ,  $\left(\frac{d}{\cdot}\right)$  and  $B_{k,\chi}$  denote the Milnor functor, the ring of integers of a number field  $F$ , the Kronecker symbol and the  $k$ -th Bernoulli number belonging to the character  $\chi$ , respectively.

For the discriminant  $d$  of a real quadratic field and  $\chi = \left(\frac{d}{\cdot}\right)$ , we put  $k_2(d) = B_{2,\chi}$  if  $d \neq 5, 8$  and  $k_2(5) = k_2(8) = 4$ . The Birch–Tate conjecture (the Mazur–Wiles theorem up to 2-torsion, see [4] and [2]) for real quadratic fields  $F$  with discriminant  $d$  states that  $|K_2 O_F| = k_2(d)$ .

For the discriminant  $d$  of an imaginary quadratic field, let  $h(d)$  denote the class number of this field. It is well known that for  $d < -4$  and  $\chi = \left(\frac{d}{\cdot}\right)$  we have  $h(d) = -B_{1,\chi}$ . The Lerch–Mordell class number formulas for binary quadratic forms state that, for two relatively prime discriminants  $D > 0$ ,  $-\Delta < 0$  of quadratic fields,

$$h(-\Delta D) = 2 \sum_{m=1}^{\Delta/2} \left(\frac{-\Delta}{m}\right)^{mD/\Delta} \sum_{n=1}^{\Delta/D} \left(\frac{D}{n}\right),$$

$$-h(-\Delta D) = 2 \sum_{m=1}^{D/2} \left(\frac{D}{m}\right)^{m\Delta/D} \sum_{n=1}^{\Delta/D} \left(\frac{-\Delta}{n}\right).$$

Here we put  $\sum_{n=1}^x = \sum_{n=1}^{[x]}$  ( $[x]$  denotes the integer part of  $x$ ). See [3] and [5].

In the present paper, we generalize these formulas for  $k_2(D_1 D_2)$  and  $k_2(\Delta_1 \Delta_2)$ , where  $D_1, D_2 > 0$  and  $-\Delta_1, -\Delta_2 < 0$  are pairs of relatively prime discriminants of quadratic fields. We prove the following

**THEOREM.** *Let  $D_1, D_2 > 0$  and  $-\Delta_1, -\Delta_2 < 0$  be pairs of relatively prime discriminants of quadratic fields. Then*

$$\begin{aligned}
k_2(D_1 D_2) &= 4D_1 D_2 \sum_{m=1}^{D_2/2} \left(\frac{D_2}{m}\right)^{mD_1/D_2} \sum_{n=1}^{\left(\frac{D_1}{n}\right)} \left(\frac{n}{D_1} - \frac{m}{D_2}\right), \\
-k_2(\Delta_1 \Delta_2) &= 4\Delta_1 \Delta_2 \sum_{m=1}^{\Delta_2/2} \left(\frac{-\Delta_2}{m}\right)^{m\Delta_1/\Delta_2} \sum_{n=1}^{\left(\frac{-\Delta_1}{n}\right)} \left(\frac{n}{\Delta_1} - \frac{m}{\Delta_2}\right) \\
&\quad + 2\Delta_1 \Delta_2 \left(3 - \left(\frac{-\Delta_2}{2}\right)\right) h(-\Delta_1) h(-\Delta_2).
\end{aligned}$$

**2. Proof of the Theorem.** Let for the discriminant  $d$  of a quadratic field and  $t \geq 0$

$$S_t(d) = |d|^{-t} \sum_{n=1}^{|d|} \left(\frac{d}{n}\right) n^t.$$

Note that for  $d < 0$

$$(1) \quad h(d) = -S_1(d),$$

and for  $d > 0$

$$(2) \quad k_2(d) = dS_2(d).$$

First, we shall extend results of [5] by proving the following

**LEMMA.** Let  $D_1$  and  $D_2$  be relatively prime discriminants of quadratic fields and let  $D = D_1 D_2$ . Put  $\Delta = |D|$ ,  $\Delta_i = |D_i|$ ,  $\varepsilon_i = 0$ , resp.  $\varepsilon_i = 1$ , if  $D_i > 0$ , resp.  $D_i < 0$  ( $i = 1, 2$ ). For an integer  $u \geq 0$  set

$$L_u(D) = \sum_{m=1}^{\Delta_2} \left(\frac{D_2}{m}\right)^{m\Delta_1/\Delta_2} \sum_{n=1}^{\left(\frac{D_1}{n}\right)} \left(\frac{n}{\Delta_1} - \frac{m}{\Delta_2}\right)^u.$$

Then

$$\begin{aligned}
(-1)^q S_t(D) &= (-1)^{t+\varepsilon_2} \sum_{s=0}^{t-1} (-1)^s \binom{t}{s} \sum_{u=0}^s (-1)^u \binom{s}{u} L_u(D) \\
&\quad + \sum_{u=0}^t \binom{t}{u} S_u(D_1) S_{t-u}(D_2),
\end{aligned}$$

where  $q = 1$  if  $D_1, D_2 < 0$ , and  $q = 0$  otherwise.

**Proof.** Let  $D_1, \dots, D_r$  denote discriminants relatively prime in pairs and let  $\mu$  of them be negative. Put  $D = D_1 \dots D_r$ ,  $\Delta_i = |D_i|$  for  $i = 1, \dots, r$  and  $\Delta = |D|$ . Mordell [5] has noticed that the complete set of non-negative residues mod  $\Delta$  is given by

$$R = \Delta \left( \frac{n_1}{\Delta_1} + \dots + \frac{n_r}{\Delta_r} \right) \quad \text{with } 0 \leq n_i < \Delta_i, \quad i = 1, \dots, r.$$

Then putting  $n = R - E\Delta$ , where  $E = [R/\Delta]$ , we have (see [5])

$$\binom{D}{n} = (-1)^{[\mu/2]} \binom{D_1}{n_1} \dots \binom{D_r}{n_r},$$

and

$$\begin{aligned} S_t := S_t(D) &= (-1)^{[\mu/2]} \Delta^{-t} \sum_{\substack{0 < n_i < \Delta_i \\ i=1, \dots, r}} \binom{D_r}{n_r} \dots \binom{D_1}{n_1} (R - E\Delta)^t \\ &= (-1)^{[\mu/2]} \Delta^{-t} \sum_{\substack{0 < n_i < \Delta_i \\ i=1, \dots, r}} \binom{D_1}{n_1} \dots \binom{D_r}{n_r} \sum_{s=0}^t \binom{t}{s} R^s (-1)^{t-s} E^{t-s} \Delta^{t-s} \\ &= (-1)^{[\mu/2]+t} \sum_{s=0}^t (-1)^s \binom{t}{s} \sum_{\substack{0 < n_i < \Delta_i \\ i=1, \dots, r}} \binom{D_1}{n_1} \dots \binom{D_r}{n_r} \left(\frac{R}{\Delta}\right)^s E^{t-s}. \end{aligned}$$

Hence for  $r = 2$  we obtain

$$\begin{aligned} (-1)^{e+t+\varepsilon_2} S_t &= \sum_{s=0}^{t-1} (-1)^s \binom{t}{s} \sum_{\substack{0 < n_i < \Delta_i, i=1,2 \\ n_1/\Delta_1 < n_2/\Delta_2}} \binom{D_1}{n_1} \binom{D_2}{n_2} \left(\frac{n_1}{\Delta_1} - \frac{n_2}{\Delta_2} + 1\right)^s \\ &\quad + (-1)^{t+\varepsilon_2} \sum_{\substack{0 < n_i < \Delta_i \\ i=1,2}} \binom{D_1}{n_1} \binom{D_2}{n_2} \left(\frac{n_1}{\Delta_1} + \frac{n_2}{\Delta_2}\right)^t \\ &= \sum_{s=0}^{t-1} (-1)^s \binom{t}{s} \sum_{u=0}^s (-1)^u \binom{s}{u} \\ &\quad \times \sum_{n_2=1}^{\Delta_2} \binom{D_2}{n_2} \sum_{n_1=1}^{n_2 \Delta_1 / \Delta_2} \binom{D_1}{n_1} \left(\frac{n_1}{\Delta_1} - \frac{n_2}{\Delta_2}\right)^u \\ &\quad + (-1)^{t+\varepsilon_2} \sum_{u=0}^t \binom{t}{u} \sum_{\substack{0 < n_i < \Delta_i \\ i=1,2}} \binom{D_1}{n_1} \binom{D_2}{n_2} \left(\frac{n_1}{\Delta_1}\right)^u \left(\frac{n_2}{\Delta_2}\right)^{t-u} \\ &= \sum_{s=0}^{t-1} (-1)^s \binom{t}{s} \sum_{u=0}^s (-1)^u \binom{s}{u} L_u(D) \\ &\quad + (-1)^e \sum_{u=0}^t \binom{t}{u} S_u(D_1) S_{t-u}(D_2). \end{aligned}$$

Thus the Lemma is proved.

To obtain the Theorem we apply the Lemma to formula (2).

First let  $D = D_1 D_2$  and  $D_1, D_2 > 0$ . Then  $\varrho = 0$ . By  $S_j(D_i) = 0$  for  $i = 1, 2$  and  $j = 0, 1$ , we get

$$\begin{aligned} S_2 &= -L_0(D) + 2L_1(D) \\ &= -\sum_{n_2=1}^{D_2} \binom{D_2}{n_2} \sum_{n_1=1}^{n_2 D_1/D_2} \binom{D_1}{n_1} + 2 \sum_{n_2=1}^{D_2} \binom{D_2}{n_2} \sum_{n_1=1}^{n_2 D_1/D_2} \binom{D_1}{n_1} \left( \frac{n_1}{D_1} - \frac{n_2}{D_2} \right). \end{aligned}$$

For a non-integer  $a$ , put  $\sum_{n=a}^x = \sum_{n=[a]+1}^x$ . Since for any discriminant  $d$  and a non-integer  $a$ ,  $1 \leq a \leq |d|$ ,

$$(3) \quad \sum_{n=a}^{|d|} \binom{d}{n} = \sum_{n=1}^a \binom{d}{n},$$

we obtain

$$\sum_{n_2=1}^{D_2} \binom{D_2}{n_2} \sum_{n_1=1}^{n_2 D_1/D_2} \binom{D_1}{n_1} = 0.$$

Therefore we have

$$\begin{aligned} \frac{1}{2} S_2 &= \sum_{n_2=1}^{D_2/2} \binom{D_2}{n_2} \sum_{n_1=1}^{n_2 D_1/D_2} \binom{D_1}{n_1} \left( \frac{n_1}{D_1} - \frac{n_2}{D_2} \right) \\ &\quad + \sum_{n_2=1}^{D_2/2} \binom{D_2}{n_2} \sum_{n_1=n_2 D_1/D_2}^{D_1-1} \binom{D_1}{n_1} \left( \frac{D_1-n_1}{D_1} - \frac{D_2-n_2}{D_2} \right) \\ &= 2 \sum_{n_2=1}^{D_2/2} \binom{D_2}{n_2} \sum_{n_1=1}^{n_2 D_1/D_2} \binom{D_1}{n_1} \left( \frac{n_1}{D_1} - \frac{n_2}{D_2} \right). \end{aligned}$$

If  $D = \Delta_1 \Delta_2$  and  $-\Delta_1, -\Delta_2 < 0$ , then  $\varrho = 1$ . In view of (1) in this case we have

$$\begin{aligned} -S_2 &= -L_0(D) + 2L_1(D) + 2h(-\Delta_1)h(-\Delta_2) \\ &= -\sum_{n_2=1}^{\Delta_2} \binom{-\Delta_2}{n_2} \sum_{n_1=1}^{n_2 \Delta_1/\Delta_2} \binom{-\Delta_1}{n_1} \\ &\quad + 2 \sum_{n_2=1}^{\Delta_2} \binom{-\Delta_2}{n_2} \sum_{n_1=1}^{n_2 \Delta_1/\Delta_2} \binom{-\Delta_1}{n_1} \left( \frac{n_1}{\Delta_1} - \frac{n_2}{\Delta_2} \right) + 2h(-\Delta_1)h(-\Delta_2). \end{aligned}$$

Therefore, by the equality

$$\sum_{n_2=1}^{\Delta_2} \left(\frac{-\Delta_2}{n_2}\right) \sum_{n_1=1}^{n_2\Delta_1/\Delta_2} \left(\frac{-\Delta_1}{n_1}\right) = 0$$

(this is a consequence of (3)), we get

$$\begin{aligned} -\frac{1}{2}S_2 &= \sum_{n_2=1}^{\Delta_2/2} \left(\frac{-\Delta_2}{n_2}\right) \sum_{n_1=1}^{n_2\Delta_1/\Delta_2} \left(\frac{-\Delta_1}{n_1}\right) \left(\frac{n_1}{\Delta_1} - \frac{n_2}{\Delta_2}\right) \\ &\quad + \sum_{n_2=1}^{\Delta_2/2} \left(\frac{-\Delta_2}{n_2}\right) \sum_{n_1=n_2\Delta_1/\Delta_2}^{\Delta_1-1} \left(\frac{-\Delta_1}{n_1}\right) \left(\frac{\Delta_1-n_1}{\Delta_1} - \frac{\Delta_2-n_2}{\Delta_2}\right) \\ &\quad + h(-\Delta_1)h(-\Delta_2) \\ &= \sum_{n_2=1}^{\Delta_2/2} \left(\frac{-\Delta_2}{n_2}\right) \sum_{n_1=1}^{n_2\Delta_1/\Delta_2} \left(\frac{-\Delta_1}{n_1}\right) \left(\frac{n_1}{\Delta_1} - \frac{n_2}{\Delta_2}\right) \\ &\quad + \sum_{n_2=1}^{\Delta_2/2} \left(\frac{-\Delta_2}{n_2}\right) \left[ -\frac{n_2}{\Delta_2} \sum_{n_1=1}^{n_2\Delta_1/\Delta_2} \left(\frac{-\Delta_1}{n_1}\right) + h(-\Delta_1) \right. \\ &\quad \left. + \frac{1}{\Delta_1} \sum_{n_1=1}^{n_2\Delta_1/\Delta_2} \left(\frac{-\Delta_1}{n_1}\right) n_1 \right] + h(-\Delta_1)h(-\Delta_2) \\ &= 2 \sum_{n_2=1}^{\Delta_2/2} \left(\frac{-\Delta_2}{n_2}\right) \sum_{n_1=1}^{n_2\Delta_1/\Delta_2} \left(\frac{-\Delta_1}{n_1}\right) \left(\frac{n_1}{\Delta_1} - \frac{n_2}{\Delta_2}\right) \\ &\quad + 2h(-\Delta_1)h(-\Delta_2) \left( 3 - \left(\frac{-\Delta_2}{2}\right) \right) \end{aligned}$$

because of (1) and of the following well-known formula which is true for any  $d < 0$ :

$$h(d) = \left( 2 - \left(\frac{d}{2}\right) \right)^{-1} \sum_{l=1}^{|d|/2} \left(\frac{d}{l}\right).$$

Thus the Theorem is proved.

**3. Remarks.** In the paper we have used an elementary idea of [5]. We can prove the Theorem using formulas (12.1) and (12.2) in [1]. There exist analogous formulas for  $D = D_1 \dots D_r$ , with  $r > 2$  which can be obtained by using the same methods.

## REFERENCES

- [1] B. C. Berndt, *Classical theorems on quadratic residues*, Enseign. Math. (2) 22 (1976), pp. 261–304.
- [2] M. Kolster, *The structure of the 2-Sylow-subgroup of  $K_2\mathcal{O}$ . I*, Comment. Math. Helv. 61 (1986), pp. 376–388.
- [3] M. Lerch, *Essai sur le calcul du nombre des classes de formes quadratiques binaires aux coefficients entiers*, Acta Math. 29 (1905), pp. 333–424, and ibidem 30 (1906), pp. 203–294.
- [4] B. Mazur and A. Wiles, *Class fields of abelian extensions of  $\mathbb{Q}$* , Invent. Math. 76 (1984), pp. 179–330.
- [5] L. J. Mordell, *On Lerch's class number for binary quadratic forms*, Ark. Mat. 5 (1963), pp. 97–100.

INSTITUTE OF MATHEMATICS  
POLISH ACADEMY OF SCIENCES  
UL. ŚNIADECKICH 8  
00-950 WARSZAWA, POLAND

*Reçu par la Rédaction le 1.3.1989;  
en version modifiée le 23.5.1989*

---